

Ejercicio: Calcula y simplifica cuando sea posible

$$\frac{4}{5} - \frac{1}{2} \cdot \frac{2}{3} = \frac{4}{5} - \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}}$$

$$\frac{5}{7} : \frac{1}{3} - \frac{3}{4} = \frac{\boxed{}}{\boxed{}} - \frac{4}{5} = \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}}$$

$$2 + \frac{4}{7} : \frac{1}{3} = \frac{2}{1} + \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} + \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}}$$

$$\frac{6}{7} - \frac{1}{2} + \frac{4}{5} : \frac{2}{3} = \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} + \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} + \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}}$$